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EEGTES

RREE | | mesE | AxsE | w%8E | FENE TRARDSS

BREEA K % % g g #%;ETEE ﬁiﬂi‘fﬁﬁﬁ
A - 355 9. 42 - 22. 800 26, 700 13. 350 20, 025
2 | e 355 6. 30 - 23. 000 22. 000 11,000 16, 000

! 9.10) (26, 300) (27, 000) (13, 500) (20, 250)

A - 353 7.50 - 25. 200 18. 400 9200 13, 800
+ | mmm 355 570 - 18. 700 13,900 6. 950 10, 425
5 | s 353 6.39 - 24. 300 18. 200 9100 13. 650
6 | marm | 3F% 8 17 - 26, 600 20, 300 10, 150 15. 225
B - 353 8.30 - 28. 500 21,000 10, 500 15. 750
s | #wm 35 7.05 - 22. 000 26, 000 13,000 19. 500
o | m#m 353 7.90 - 28. 800 21, 600 10, 800 16, 200
0| x=m 355 7.70 - 29. 200 22. 000 11,000 16, 500
P — 355 8.30 - 26, 400 24. 000 12,000 18. 000
2 | mremm | 37% 8.50 - 26, 900 26, 000 13,000 19. 500
P 355 8. 00 - 26, 600 20, 600 10, 300 15. 450
2 | ewm 355 7.40 - 29. 700 21, 800 10, 900 16, 350
I 355 7.35 - 23. 500 27. 000 13. 500 20, 250
16 | sorar 355 5.00 - 19. 800 15. 000 7 500 11, 250
7 | sam 353 5. 80 - 21,300 17,000 8 500 12. 750
P — 353 6.38 - 23, 800 5 600 2800 4 200
P 355 6. 30 - 26, 200 19. 200 9600 14400

353 6. 30 - 25. 400 18. 200 9100 13. 650
20 | AEHHE 70 (32,000)| (23,000  (i1.500)| (17, 250)
o - 353 5. 80 - 21, 600 19. 800 9900 14850

35 6. 60 - 14,000 16, 000 8. 000 12,000
2 | KEH (5. 90) (10, 600)
2 | = rm 353 8. 40 - 22.100 22. 800 11. 400 17.100
2 | =g 353 6.92 - 28. 700 20, 600 10, 300 15. 450

= (6. 60) (25,000)| (20, 500) (10, 250) (15, 375)
N — 355 7.30 - 31, 500 21, 400 10, 700 16, 050
I 355 7.30 - 30, 300 21, 800 10, 900 16, 350
A R 35 7.23 - 29. 800 21, 400 10, 700 16, 050
2% | EE 35 5.55 - 23. 800 16, 500 8 250 12. 375
29 | = 355 6.56 - 28. 000 19. 200 9. 600 14. 400
20 A AT 3AR 7.00 - 26, 000 20, 600 10, 300 15, 450
I - 353 6. 40 - 26, 000 18,000 9. 000 13, 500
3 | BEBE [ 3FAR 7.00 - 24. 000 24. 800 12. 400 18. 600
REES

BTt {E 7.06 - 25. 141 20, 231 10, 116 15. 158
(HFF) SHM6EECATIERRERBRESLEMKRBRE (EHAED)

SH6FEOR1TARE



SH6EQR1THIRKE

EHERERIESES NEHAE S
REES | | meas | geas | weeE | wensE FEAMDS 5 o | FFEEIE | EEnE | e | Tes
BEEAR % % = =) ﬁﬂiﬂ"gj‘ ##Eﬂiﬁﬁ% BEEARK % % = i
1 s 3A= 2.79 - 6, 700 8, 400 4 200 6,300] 2A= 2.08 - 13, 600 -
9 SR 3ARK 2.80 - 8, 300 8, 200 4 100 6,150 3 A= 2.50 - 9,200 6, 900
3 o 3ARK 2.70 - 8, 400 1,200 3, 600 5,400f 3 A= 2.20 - 10, 800 5,200
1 T 3ARK 2.20 - 8, 200 6, 000 3,000 4 5001 3AH=H 2.30 - 10, 600 5,700
5 3T 3AK 2.37 - 8, 800 6, 600 3, 300 4 9501 3AHR 1. 71 - 7,400 7,000
6 AT 3AK 2. 47 - 8, 300 6, 300 3, 150 4 725 3 A= 1.73 - 8, 200 4 200
7 F 25K 2.50 - 9, 800 - - - 25K 2.50 - 14, 000 -
8 L7 3AK 2.90 - 8,100 7, 800 3, 900 5,850 3 A= 1.75 - 7, 800 7, 800
9 s 3AK 2.90 - 10, 500 7, 800 3, 900 5,850 3 A= 2.60 - 11, 800 5,600
= 3ARK 2.50 - 10, 100 7,400 3,700 5,550 3 A= 2.00 - 10, 300 5,800

10 XEmH
1 iR 3A= 3.00 - 6, 500 1,200 3, 600 5,400f 3 A= 3.30 - 9,500 5,900
12 | Bt 3A= 2.60 - 8, 500 7,000 3, 500 5,250 3 A= 1.80 - 9,400 6, 000
13 R 3A= 2.30 - 8, 200 6, 200 3,100 4 650 3 A= 2.10 - 8, 200 4 300
1 Ly 3ARK 2.70 - 10, 000 7,400 3,700 5,550 3 A= 2.30 - 11, 500 5,400
5 LI ET 3AK 2. 45 - 6, 500 7,000 3, 500 5,250 3 A= 1.50 - 10, 000 4 500
16 JTHT 3ARK 2.60 - 10, 500 7,500 3, 150 5,625 3 AR 1.80 - 9,300 4 500
17 &7 By 3AK 2.70 - 9,500 7,600 3, 800 5,700 3 A= 2.00 - 9,900 5,400
18 75 )1 3AK 2. 21 - 7,700 2,800 1,400 2.100] 3A=H 2.38 - 9,800 2,800
19 STALAT 3AK 2.50 - i 400? 7, 600 3, 800 5,700 3 A= 2.10 - 11,100 5,100
20 | xEmE 3ARK 2.90 - 11,100 7, 800 3, 900 5,850 3 A= 2.10 - 11, 500 5,700
(2.50) (10, 000) (7, 000) (3, 500) (5, 250) (2.20) (12, 000) (6, 000)
, 3AK 2.75 - 9, 800 7, 800 3, 900 5,850 3 A= 2.00 - 10, 600 7,000

21 Fit S BT
29 KA 3ARK 2.50 - 5,600 7,000 3, 500 5,250 3 A= 1.90 - 4 800 3, 800
(2. 40) (5, 000) (2.20) (5, 400) (6, 000)
= 3ARK 2.90 - 9,300 9,400 4 700 7,050 3A=HK 2.20 - 9, 800 7,000

23 =< EHT
24 = e 3ARK 2.80 - 11, 500 8, 300 4 150 6,225 3 AR 2.16 - 10, 900 5,800
= (2. 56) 9,900)|  (7.300)| (3, 650) (5, 475) (1. 86) (9,200)| (4, 700)
3ARK 2.50 - 10, 500 7,100 3, 550 5,325 3 AR 2. 40 - 12,000 6, 000

25 JII PR HET
26 & AT 3ARK 2.50 - 10, 200 7, 300 3, 650 5,475] 3 AR 2.20 - 11, 400 5,800
97 SR AT 3ARK 2.53 - 10, 100 7, 300 3, 650 5,475] 3 AR 2.27 - 11, 300 5,800
28 JINEIRT 3ARK 2.65 - 9,900 6, 200 3,100 4 650 3A= 2.78 - 12,000 5,700
29 =11y 3ARK 2.84 - 11, 800 8, 000 4 000 6,000] 3A= 2. 40 - 12,000 6, 000
20 S {E AT 3ARK 2.50 - 9,000 7,400 3,700 5,550 3 A= 2. 40 - 12,100 6, 500
31 FE AT 3ARK 2.55 - 9, 650 7, 600 3, 800 5,700 3 A= 2.10 - 12,100 5,900
39 = Eih[X 3A 2.30 - 8, 300 8, 400 4 200 6,300 3A=H 2.00 - 9,700 6, 600

A
B {E 2.61 0.00 8,792 7, 050 3,525 5, 288 2.17 0.00 10, 394 5,303




